FEATICE TS OO0 HDFRH

THT7E (2025%)

30 20
FER274 —— T (F27~46)

25 || —e— FH(F28~%6) —— ST
—— T 15 ) SN

20 IEmushoREBHLE] A \/\

15 10

o A [V

2\ ; A

5 WJ-“-:-L

0 Mm 0

B 5 6 7 8 9 10 4 5 6 7 8 9 10

44123456123456123456123456123456123456 123456123456123456123456123456123456123456

B /%4
+oayrAKOR) oA VARAFH(BHRH))

10 10

FE(F21~52) SHBENSRBBFHEE | —e— T4 (F27~%6)

g bl —*— FE(H3I~6) 8 b =—e—oiniE
e G FNTEE

6 6

“ ) N

2 2 2 \/‘

0 a 2 205 an 0 ggggggguuuuuuuuﬁ&f:iuuuu:::¥:=zhunn-
5 6 7 8 9 10 5 6 7 8 9 10
123456123456123456123456123456123456 123456123456123456123456123456123456

A/%4] e
Disly M = - ﬁ/:':ﬁ.l
ETRYLARET] £ons hlER )
20
—e— FE(FE27~56)
—— 20 1

15 /\

‘° i

5 /*[/ \.:.:.::}

0 lezssossemens

5 6 7 8 9 10
123456123456123456123456123456123456

 B/Ef
woah L AR

5

BEMERXRAHARS



